
SAGE LIVING HOME & DÉCOR PRIVATE LTD 

     

ARC BED   



 

 

SAGE LIVING HOME & DÉOR PVT LTD 

 

* Do not dispose of any packaging or contents of the shipping carton until assembly is 

completed to avoid any accidentally discarding small parts or hardware. 

* For safety and ease of assembly, a minimum of 4 people is recommended for 
installation. 

* Keep the parts on a carpet/ bubble wrap/soft cloth while assembling to avoid scratches. 
* Kindly keep any sharp surfaces or objects away from the assembly area such that they do not 

scratch or damage the product.  
* Assemble in a clean & dry area. 
* Kindly use gloves while assembling.

PARTS INCLUDED: 

No. Item Description Qty 

1 
 

Allen Key M4 01 

2 
 

Allen Key M5 01 

3 
 

M6 Screw 51 

4 
 

M8 Screw 08 

5 

 

Headboard 01 

6 

 

Footboard 01 

7 

 

 

Side Rails 02 

8 

 

 

Center Support 

 

01 

 



 
SAGE LIVING HOME & DÉOR PVT LTD 

 

No. Item Description Qty 

9 

 

 
 

Slats 17 

10 

 

Legs 02 

 

    STEP: -1 Carefully unpack all the parts of the Arc bed from the carton. Keep the parts on 

carpet/ cloth to avoid scratches. 

 

STEP: -2 Attach the Side Rails, one by one, to the Headboard and the Footboard using M8 

Screws, as shown in Fig. 01. Once all the screws are fixed and the parts are attached properly 

tighten the screws using the Allen key M4. 

 

 

 

                                                                                      

 

                                                                   

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                                     Fig. 01 

 
 



 
SAGE LIVING HOME & DÉOR PVT LTD 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                                      Fig. 02 

 

STEP: -3 Take the Centre Support and attach the two Legs to the underneath side of the 

Centre Support. Rotate the legs in the anti-clockwise direction to fix them. Place the 

assembled legs inside the bed frame. 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                                

         

                                                                       Fig. 03 



 
SAGE LIVING HOME & DÉOR PVT LTD 

 
                                                                                 

                    

                                                                                    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                                                    Fig.-04 

 

STEP: - 4 Place the first and the last Slats across the Side Rails and Centre Support and 

make sure to align with the holes. Use the M6 Screw to fix the slat on the Centre Support and 

the Side Rails (Fig.-05). This helps in fixing the Centre support in position. Now place all the 

other slats and similarly fix them. Tighten all the screws with Allen Key M4. 

 

 

 

 

 

 

 

 

                                                                                        

 

 

 

 

 

 

 

 

 

                                                                                          Fig.-05 



 
SAGE LIVING HOME & DÉOR PVT LTD 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                                                          Fig.-06 

 

 

STEP:-5 Arc Bed is ready to use. 

 

 

                                                                                           

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                                                      Fig.-06 


